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IFind the measures of L2, 3, and £4 for each value ol m~1.

1. mZs1l =125 m.22 mL3 = a4 = L 4 : 2
2. mZl = 162° mL2 moL3 = ms4 =
3. mLl =84°. mL2 mL3 = mL4 =
4. mL1 = 102° mL2 mL3 = mld =
5. In the figure, £5 is complementary to 12, and » 2 9 — 148°.
Find the measure of each numbered angle in the figure. & 6 ° %
2 11

mos — ms6 mLT BN !
mL8 = ms9 L 10
mZ11 = mL12

In the figure at the right, mZA4F1> — 50° Find each of the following.
6. mALBFC 7. mLEFC
8. mALBFD 9. mLDFE

Suppose that LIJIK and £L1J are vertical angles. Find their measures if the following conditions apply.
10. mAHIK = (2x + 15)°, m~LIT = (5x — 27)°. m£LHIK = mLLIT =

11. mZHIK = (6x — 6)°, mA1LL7=3(x + 6)°. moHIK = mLLI)= __

Give a response (or reasous) to justify each stalement.
12. 23 and 4 are supplementary. o
13. Z2=/5.
1/2 34
‘76 7 Y‘

14. It ms2 + ms4 = 1807, then 22 and £4 arc supplementary.

15. Rewrite the theorem “Two perpendicular lines form four right angles™ in if-then form.

16. Construct the bisector of the angle at the right. AN
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